Answers

Chapter 16


CigDataInference.xls Answers
1) Compute the 95-percent confidence intervals for the ln Price and ln Income parameters in Model 3.
95%CI = BestEstimate + 2SE
lnPrice: -1.24 + 0.764      
      lnIncome: 0.563 + 0.226
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Estimate -1.24 0.563 4.5 Estimate

SE 0.382 0.113 1.732 SE


2) Give an intuitive reason why the estimated price elasticity of demand is greater in absolute value in Model 1 than in Model 2.
In Model 1, with price as the only independent variable, all of the movement in demand is attributed to price. When both price and income are taken into account via a multivariate regression in Model 2, we find that some of the movement of demand is due to income as well.  Hence, the price elasticity of demand falls for Model 2 because some of it is due to income. 

3) In Model 3, test the null hypothesis that the price elasticity of demand is equal to 
−1.  Report your results.
Because this is a double ln model, the price elasticity of demand is simply the coefficient on price. We can test this hypothesis using the t-test. 


(Observed – Expected)/SE:  (−1.24−(−1))/0.382 = 0.24/0.382 = 0.63 SEs away.

Because our result is within 1 SE we can say that the null hypothesis that the true value is −1 cannot be rejected. 

4) In Model 3, test the null hypothesis that the income elasticity of demand is equal to 1.  Report your results.
Again, as a double log model, the income elasticity of demand is just the coefficient on demand in the model. Our test statistic is 





(0.563−1)/0.113 = 3.87 SEs away. 

This is quite a distance from the expected value and causes us to reject the hypothesis that income elasticity of demand is 1. 
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